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INDIAN SCHOOL MUSCAT
HALF YEARLY EXAMINATION 2022
MATHEMATICS (041)
CLASS : XII TIME ALLOTED : 3 HRS.
DATE: 15.09.22 MAXIMUM MARKS: 80

GENERAL INSTRUCTIONS:
(a) This question paper consists of 38 questions divided into five sections A, B, C, D and E.
(b) Section-A comprises of 20 questions of one mark each (Q1 to Q 20).
(¢) Section-B comprises of 5 questions of two marks each (Q 21 to Q 25).
(d) Section-C comprises of 8 questions of three marks each (Q 26 to Q 33).
(e) Section-D comprises of 2 Case-study questions with 4 marks each (Q 34 and Q 35).
(f) Section- E comprises of 3 questions of 6 marks each (Q 36 to Q 38).
There is no overall choice. However, internal choice has been provided.

SECTION — A (Questions 1 to 20 carry 1 mark each)

] MULTIPLE CHOICE QUESTIONS:

1. The point on the curve y# = 8x for which the abscissa and ordinate change at the same rate
is:
(a) (1,8) () (0, 0) ()2, 4) (d) 3,-2)
2. sinvx
f N dx equals
(@) —2cosvVx +C (b)% cosvx + C () 2sinvx + C (d) log|Vx|+C
‘ kx
—, ifx<0
3. The value of k so that the function f(x) = {le f is continuous at x = 0 is
3, ifx=0
(@3 (b)-3 ©0 (d) does not exist
4. If for any 2 X 2 square matrix 4, if A(adj A) = [g g], then the value of [A| is
(a) 64 )1 (c)8 (d)yo
5. If f(x) = 9°*2% then f'(~1) is
()0 (b)2 (c) 4 (d) -2
6 f\/1+sin2x dx =
(a) tanx — cotx + C (b) sinx — cosx + C
(c) sinx + cosx + C (d) cosx — sinx + C
7. If A isa square matrix such that A2 = A, then (I + A)? — 34 is
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10.
(ii)
11.

12.

13.

14.
(iii)
15.

16.

17.
18.

(iv)

19.
20.

(a) I (b) 24 () 31 ) 4

. d 3,
If y=asindt, x =acos3t,then ;ii at t=7" is

(a) -1 ) - % ©—V3 @1

If the rate of change of volume of a sphere is equal to the rate of change of its radius, then its
radius is

(a) = units (b) 2 units (©) > units (d) L units
21 an 2Vm VT
[ x? sinx3dx =7
(a) — = cosx3 + C (b)2 cosx3 +C ©=sinx*+C  (d)=Lsinx3+¢
3 3 3 3
FILL IN THE BLANKS:

Assume that the function f(x) has its second derivative at x = ¢ such that f'(c) =0and
f"(c)>0,thenx = cis a point of ===---memmeeeeee )

je“"gx.x“dx =

If y=cos (g —sin™1 x), where x € [—1, 1], then Z—Z =

If A and B are symmetric matrices, then (AB — BA) is @ ~--=memrmeeme matrix.
TRUE OR FALSE :

The point at which the function f(x) = |2x + 3| is not differentiable is g
The derivative of a function is unique but a function can have infinite anti-derivatives.

5 6 -3
The cofactor of the element a,, of the determinant [-4 3 2 | is —3.
-4 -7 3

The total revenue in X received from the sale of x units of an article is given by
R(x) = 3x* + 36x + 5. The marginal revenue (in X) when x = 15 is 3 126,

ANSWER Q.19 & Q.20 BASED ON THE GIVEN GRAPH (SOURCE-BASED
QUESTION):

<5

Write one branch of sin™ x other than the principal branch.
What is the value of sin~! (— Ad

Page 2 of 5



21.

22.

23.

24.
25.

26.

217.
28.

29.

30.

31.

32.

33.

SECTION — B (Questions 21 to 25 carry 2 mark each)

Check if the relation R on the set A = {1,2,3, 4,5, 6} defined as
R = {(x,y): y is divisible by x} is (i) symmetric  (ii) transitive.
(OR)
Show that the relation R in the set of real numbers, defined as R = {(a,b): a < b?} is neither
reflexive nor symmetric nor transitive.

. . —1 [1+cosx .
Differentiate: tan™! (——) with respect to x.

(OR)
Find the derivative of x'°9* with respect to logx.

. 1
Find fz;:;iz:zsdx

sinx

(OR)

. (2x-5)e?*
Find I-YE;:ET;-d

Show that the function f in A = R — {g} defined as f(x) =
Evaluate : [ sec*x tanx dx

4x+3
6x—4

is one-one.

SECTION - C (Questions 26 to 33 carry 3 mark each)

IfA= [g é] and | = [(1) (1)], find x and y so that A> — xI — yA = 0. Hence find AL
(OR)
1 3 2][1
Find the value of x if[1 x 1] [ 2 5 1] [2] =0
15 3 2llx

Evaluate : [x? tan~'x dx.

The volume of a cube is increasing at the rate of 8 cm®/s. At what rate is its surface area
increasing when the length of its edge is 12 cm?

Find the equation of the line joining A(1,3) and B(0, 0) using determinants and find k if
D(k, 0) is a point such that area of AABD is 3 sq. units.

Find the value of : tan™! [2 sin (2 cos™! (— ?)) + 2\/§]

(OR) .
Find the principal value of : tan™! (tan -5-673) + cos™? (cos 137") — cot™1(=v3)
— (cin—1 4)2 oy Ay 5
If y = (sin~!x)?, prove that (1 — x*) X 2=0

Find the absolute maximum and absolute minimum values of the function given by
f(x) = sin*x —cosx, x € [0,7]
(OR)
Find the intervals in which the function f given by f(x) = x* —2x? is
(i)strictly increasing (ii) stricfly decreasing.
x+2
Evaluate : f

e &
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34.

35.

36.

SECTION — D (CASE STUDY QUESTIONS)

A potter made a mud vessel, where the shape of the pot is
based on the function

fx) =1x = 3| + |x — 4|, where f(x) represents the
height of the pot.

Based on the given information, answer any 4 of the
following questions: (1 mark each)
(i) when x > 5, what will be height of the pot in terms of x?

() 2x — 7 (b) 7 - 2x cyx—4 (dx-3
(ii) when 3 < x < 4, then the function is
(a)2x -7 (b) 7 — 2x (©1 (d) -7
(iii) Find f'(4)
(@1 (b) Function is not differentiable (c)-7 (d)-1
(iv) The point(s) of discontinuity of f(x) are .
(@ x=3 b)x=4 (c)x=3 andx =4 (d) No points of discontinuity

(V) If the potter tries to make a pot using the function f(x) = [x],
will he get a pot or not? why?
(a) Yes, because it is a continuous function.
(b) Yes, because it is not a continuous function.
(¢) No, because it is a continuous function.
(d) No, because it is not a continuous function.

A professional typist Raj charges Z 1450 for typing 20
English, 17 Hindi and 3 Arabic pages, while Ketan
charges ¥ 1800 for typing 14 English, 20 Hindi and 4
Arabic pages and Suraj charges Z 1650 for typing 17
English, 18 Hindi and 3 Arabic pages.

Based on the given information, answer the following
questions: (2 marks each)

(1) Assuming that the charges (in ) for typing one
English page be x, that of one Hindi page be ¥ and one
Arabic page be z, represent the above given situation using matrices.

(i) If the matrix A can be expressed as the sum of a symmetric matrix P and a skew-
symmetric matrix Q, find matrix P.

SECTION — E (Questions 36 to 38 carry 6 mark each)

31 2
IfA= [3 2 —3], find A~1. Hence, solve the system of equations:
2 0 -1
3x+3y+2z=1
x+2y=4
2x~3y—z=5
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37.

38.

(OR)

1 -1 0 2 2 -4

Giventhat A=|2 3 4|, and B=|-4 2 —4|, compute AB. Use this product to
0 1 2 2 -1 5

solve the system of equations: x —y=3; 2x+3y+4z=17; y+2z=7

LetA={1,2,3,.... 9}. Show that the relation R in the set A X A defined by (a, b)R(c,d) if
a+d=b+cforall a,b,c,d € A4,]is an equivalence relation. Also find the equivalence
class [(2,5)].

A rectangle is inscribed in a semicircle of radius r with one of its sides on the diameter of the
semicircle. Find the dimensions of the rectangle , so that its area is maximum. Also find the
maximum area.

(OR)
Prove that the height of the cylinder of maximum volume, that can be inscribed in a sphere of

radius R is ZT}; . Also find the maximum volume;

****END OF THE QUESTION PAPER****
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INDIAN SCHOOL MUSCAT
HALF YEARLY EXAMINATION 2022
MATHEMATICS (041)

CLASS : X1II TIME ALLOTED  :3 HRS.
DATE: 15.09.22 MAXIMUM MARKS: 80

GENERAL INSTRUCTIONS:
(a) This question paper consists of 38 questions divided into five sections A, B, C, D and E.
(b) Section-A comprises of 20 questions of one mark each (Q1 to Q 20).
(¢) Section-B comprises of 5 questions of two marks each (Q 21 to Q 25).
(d) Section-C comprises of 8 questions of three marks each (Q 26 to Q 33).
(e) Section-D comprises of 2 Case-study questions with 4 marks each (Q 34 and Q 35).
(f) Section- E comprises of 3 questions of 6 marks each (Q 36 to Q 38).
There is no overall choice. However, internal choice has been provided.

SECTION — A (Questions 1 to 20 carry 1 mark each)

MULTIPLE CHOICE QUESTIONS:

If for any 2 X 2 square matrix 4, if A(adj A) = [g g], then the value of |4] is

@) 6 (b) 36 © 8 @1
If y=asin’t, x =acos3t,then Z—z at t == g

3
(&) -1 ®-% © V3 1
3. [ x% cosx3dx =7
(a) —% sinx® +C (b)é sinx3 + C (c)% cosx3+C (d) —% cosx® +C
4, If Aisasquare matrix such that A2 = 4, then (I + A)? — 34 is
(@I (b) 24 (c) 31 @A
5. The point on the curve y* = 8x for which the abscissa and ordinate change at the same rate is
(a) (1,8) (b) (0, 0) (©)(2,4) (d) 3,-2)
6. If the rate of change of area of a circle is equal to the rate of change of its radius, then its
radius is |
1, 1 . 1 . 1 )
(a) 5, units (b) 2. units () PN units (d) = units

7 | Kl ifx <1
The value of k so that the function f(x) ={ lx-1| ’ is continuous at x = 1

3, ifx=>1
is:
(@3 (b) -3 ©0 (d) does not exist
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10.

(i)
11.

12.

13.
14.

(iii)
15.
16.

17.
18.

(iv)

19.
20.

21.

sinyx
f NE: dx equals
(a) —2cosVx +C (b)% cosvx + C (c) 2sinyx + C (d) log|[vx| +C
f\/l —sin2x dx =
(a) tanx — cotx + C (b) sinx — cosx + C
(c) sinx + cosx + C (d) cosx —sinx + C
If f(x) = 93*%° | then f'(~1) is
() 0 (b)2 (c)4 (d)-2
FILL IN THE BLANKS:

If y=cos (g —sin™! x), where x € [-1,1], then 'Z_i =

Assume that the function f(x) has its second derivative at x = ¢ such that f'(¢c) =0and
f'"(c)>0,thenx = cis 10710311 10) R ——

If A and B are symmetric matrices, then (4B — 127 ) B T R — matrix.
f 83 logx ) x‘*dx —
TRUE OR FALSE :
5 6 =3
The cofactor of the element a,, of the determinant |—4 3 2| is =3.
-4 -7 3

The total revenue in X received from the sale of x units of an article is given by

R(x) = 3x?+ 36x + 5. The marginal revenue (in X) when x = 15 is % 126.

The derivative of a function is unique but a function can have infinite anti-derivatives.
The point at which the function f(x) = |2x + 3] is not differentiable is 2

ANSWER Q.19 & Q.20 BASED ON THE GIVEN GRAPH (SOURCE-BASED
QUESTION):;

4

D¥omain: [—1, 11
Range: {-g <5

. 11
What is the value of sin ( ﬁ) ?
Write one branch of sin™ x other than the principal branch.

SECTION — B (Questions 21 to 25 carry 2 mark each)
dx
Evaluate : f m
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22.

23.
24.

25.

26.

27.

28.

29.

30.

31.
32.

33.

Check if the relation R on the set A = {1, 2,3, 4,5, 6} defined as
R = {(x,y): y is divisible by x} is (i) symmetric (ii) transitive.
(OR)

Show that the relation R in the set of real numbers, defined as R = {(x,y): x < y?} is neither

reflexive nor symmetric nor transitive.
. . 4x+
Show that the function f inA = R — {g} defined as f (x) =—

3.
4 1S one-one.

cosx—sinx

Differentiate: tan™?! ( , ) with respect to x.
cosx+sinx

(OR)

Find the derivative of sin?x with respect to e€%5*,

Find f m dx
(OR)

Find f(x 31))63 dx

SECTION - C (Questions 26 to 33 carry 3 mark each)
Find the equation of the line joining A(1,3) and B(0, 0) using determinants and find k if
D(k,0) is a point such that area of AABD is 3 sq. units.
Find the absolute maximum and absolute minimum values of the function given by
f(x) = sin?x — cosx, x € [0,7]
(OR)
Find the intervals in which the function f given by f(x) = x* — 2x2 is
(strictly increasing (ii) strictly decreasing.

Evaluate : f X7 dx
) JGe=5)(x—4)
If y = (sin"*x)?, prove that (1 — ) -—x -2 =

Find the value of : tan™! {2 sin (2 cos™t (— ?)) + 2\/§]

(OR)
Find the principal value of : cos™! (cos —) + tan~ (tan 5?”) — cot™}(—V3)
Evaluate : [x2 tan~!x dx.

IfA= 3 é and I = [é g], find x and y so that A2 — xI — yA = 0. Hence find 472,
(OR)
1 3 2111
Find the value of xif[1 x 1] [ 2 5 1] [2] =0
15 3 2

The radius of a right circular cylinder is decreasing at the rate of 3 cm/min and its height h is
increasing at the rate of 2 cm/min. Find the rate of change of the volume of cylinder when

r=7cmand h = 2cm.(Use7t—7)
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34.

35.

SECTION — D (CASE STUDY QUESTIONS)

A professional typist Raj charges ¥ 1450 for typing 20 English, 17 Hindi and 3 Arabic pages,
while Ketan charges Z 1800 for typing 14 English, 20 Hindi and 4 Arabic pages and Suraj
charges Z 1650 for typing 17 English, 18 Hindi and 3 Arabic pages.

Based on the given information, answer the following
questions: (2 marks each)

(1) Assuming that the charges (in ) for typing one English
page be x, that of one Hindi page be y and one Arabic page
be z, represent the above given situation using matrices.
(ii) If the matrix A can be expressed as the sum of a

symmetric matrix P and a skew-symmetric matrix Q, find
matrix P.

A potter made a mud vessel, where the shape of the pot is based on the function
f(x) = |x = 3| + |x — 4], where f(x) represents the height of the pot.

Based on the given information, answer ANY 4 of the following questions: (1 mark each)
(1) When x > 5, what will be the height of the pot in terms of x?

(a)2x —7 (b) 7 — 2x (c)x—4 (d)yx -3
(if) When 3 < x < 4, then the function is
(@) 2x —7 (b) 7 — 2x (©1 (d)-7
(iii) Find f'(3)
(a) 1 (b) Function is not differentiable ~ (c) -7 (d)-1
(iv) Find the point(s) of discontinuity of f(x)
@x=3 b)x=4 ()x=3 andx =4  (d) No points of discontinuity

(v) If the potter tries to make a pot using the function f(x) = [x],
will he get a pot or not? why?
(a) Yes, because it is a continuous function.
(b) Yes, because it is not a continuous function.
(c) No, because it is a continuous function.
(d) No, because it is not a continuous function.
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36.

37.

38.

SECTION - E (Questions 36 to 38 carry 6 mark each)

A rectangle is inscribed in a semicircle of radius 7 with one of its sides on the diameter of the
semicircle. Find the dimensions of the rectangle , so that its area is maximum. Also find
maximum area.

(OR)
Prove that the height of the cylinder of maximum volume, that can be inscribed in a sphere of
. . 2R .
radius R is Nl Also find the maximum volume

1 2 0
IfA = [—2 -1 —2], find A™*. Hence, solve the system of equations:
0 -1 1
x—-2y=10
2x—y—z=28
—2y+z=7
(OR)
-4 4 4 1 -1 1
Given that A = [—7 1 3|, and B=|1 =2 —2], compute AB. Use this product
5 -3 -1 2 1 3

to solve the system of equations: x —y+z=4; x—-2y—2z=9; 2x+y+3z=1

LetA={1,23,.... 9}. Show that the relation R in the set A X A defined by (a,b)R(c,d) if

a+d=>b+cforall a,b,c,d €A, isan equivalence relation. Also find the equivalence
class [(2,5)].

**4*END OF THE QUESTION PAPER****
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INDIAN SCHOOL MUSCAT
HALF YEARLY EXAMINATION 2022
MATHEMATICS (041)
CLASS : XII ‘ TIME ALLOTED : 3 HRS.
DATE: 15.09.22 MAXIMUM MARKS : 80

GENERAL INSTRUCTIONS:
(a) This question paper consists of 38 questions divided into five sections A, B, C, D and E.
(b) Section-A comprises of 20 questions of one mark each (Q1 to Q 20).
(c) Section-B comprises of 5 questions of two marks each (Q 21 to Q 25).
(d) Section-C comprises of 8 questions of three marks each (Q 26 to Q 33).
(e) Section-D comprises of 2 Case-study questions with 4 marks each (Q 34 and Q 35).
(f) Section- E comprises of 3 questions of 6 marks each (Q 36 to Q 38).
There is no overall choice. However, internal choice has been provided.

SECTION — A (Questions 1 to 20 carry 1 mark each)

@) MULTIPLE CHOICE QUESTIONS:

1. [ x3 sinx*dx =7
(a) —% cosx* +C (b)% cosx* +C (c)% sinx*+C (d) —% sinx* + C
2. If the rate of change of total surface area of a sphere is equal to the rate of change of its
radius, then its radius is
1, 1 , 1 . 1 .
(@) 5, units (b) S units () "= units (d) = units
3. If y=atan2t,x=acot2t,then3—zatt=37”is
(a)-1 ® -5 (©) -3 d)1
4, If A isa square matrix such that A2 = 24, then (I + A)* —4A is
(@ (b) 2A (c) 3! (@A
> f\/1+sin2x dx =
(a) tanx — cotx + C (b) sinx — cosx + C
(c) sinx + cosx + C (d) cosx — sinx + C
6. If f(x) = 9x*+2%  thep f'(—1) is
()0 (b)2 (c)4 (d)-2
7. If for any 2 X 2 square matrix 4, if A(adj A) = [Z) 2], then the value of |A] is
(a) 49 (b) 1 ©7 (@0
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10.

(i)
11.
12.

13.
14.
(iif)
15.
16.

17.
18.

(iv)

19.
20.

k(x-2) ,
_ —, ifx<2 .
The value of k so that the function f(x) = { Ix—2| is continuous at x = 2
3, ifx=2
is
()3 (b) -3 (©0 (d) does not exist

IM dx equals
* q

(@) —cos(logx) + C (b)i cos(logx) + € (c) cos( i) +C  (d) cos(logx) +C

The point on the curve y? = 8x for which the abscissa and ordinate change at the same rate
is:

FILL IN THE BLANKS:
If A and B are symmetric matrices, then (AB — 27} ST RE— matrix.

If y=sin (g —cos™t x), where x € [—1,1], thenZ—i =
je‘“"g".xzdx =

Assume that the function f(x) has its second derivative at x = ¢ such that f'(c) =0and
f"(c) > 0, then x = c is a point of ~---vmmmcmmmme--

TRUE OR FALSE :
The total revenue in X received from the sale of x units of an article is given by
R(x) = 3x% 4+ 36x + 5. The marginal revenue (inX) when x = 15 is T 126.

5 6 -3
The cofactor of the element a5, of the determinant [—4 3 2 | is —2.
-4 -7 3

The derivative of a function is unique but a function can have infinite anti-derivatives.
The point at which the function f(x) = |2x — 3| is not differentiable is %

ANSWER Q.19 & Q.20 BASED ON THE GIVEN GRAPH (SOURCE-BASED
QUESTION):

-1 1 1

Promadn: [—1, 1]

Range: [11, ]

Write one branch of cos™* x other than the principal branch.
What is the value of cos™? (— ?) ?
Page 2 of 5



21.

22.
23.

24.
25.

26.

217.

28.

29.

30.
31

32.

33.

SECTION - B (Questions 21 to 25 carry 2 mark each)

. . _ 14+cosx
Differentiate: tan 1(
sinx

) with respect to x.

~ (OR)
Find the derivative of x5 with respect to sinx .
dx
Evaluate f Nrrcr e
. sinx . x—-3)e
Find | Y s— (OR) Find [ e dx
4x+3
Show that the function f in A = R — {-2?:} defined as f(x) = 6?:4 is one-one.

Check if the relation R on the set A = {1,2,3, 4,5, 6} defined as
R = {(x,y): y is divisible by x} is (i) symmetric (ii) transitive.
(OR)
Show that the relation R in the set of real numbers, defined as R = {(a,b): a < b?} is neither
reflexive nor symmetric nor transitive.

SECTION — C (Questions 26 to 33 carry 3 mark each)

— (cin=1 )2 oy dy 5
If y = (sin"1x)?, prove that (1 —x )dxz X — 2=0
IfA= [3 ]5‘] and [ = [é g], find x and y so that A% — xI — yA = 0. Hence find A~
(OR)
1 3 211
Find the value of xif [1 x 1][2 5 1] [2] =0
15 3 2ilx

The radius of a right circular cylinder is decreasing at the rate of 3 cm/min and its height h is
increasing at the rate of 2 cm/min. Find the rate of change of the volume of cylinder when

4 =7cmandh=2cm.(Usen=373)
Find the absolute maximum and absolute minimum values of the function given by
f(x) = sin?x —cosx, x € [0,7]
(OR)

Find the intervals in which the function f given by f(x) = x* — 2x? is
(i)strictly increasing (ii) strictly decreasing.
Evaluate : [ x* cos™' x dx.
Find the equation of the line joining A(1,3) and B(0,0) using determinants and find k if
D(k, 0) is a point such that area of AABD is 3 sq. units.

1 . -1 : -1 V3
Find the value of : tan [2 sin (2 cos (— 7)) + 2\/§]

(OR)

. ‘. - 5m - - 13m
Find the principal value of : tan™! (tan ?) — cot™*(—v3) + cos™? (cos T)
Evaluate : f Sx+7 "

s &

Page 3 of 5



34.

35.

SECTION - D (CASE STUDY QUESTIONS)
A potter made a mud vessel, where the shape of the pot is based on the function
f(x) =|x = 3| + |x — 4], where f(x) represents the height of the pot.

Based on the given information, answer ANY 4 of the following questions: (Imark each)
(1) When x > 5, what will be the height of the pot in terms of x?

(a)2x -7 (b) 7 — 2x c)x—4 (dx-3
(i) When 3 < x < 4, then the function is
(a)2x -7 (b) 7 — 2x (©1 (d) -7
(iii) Find f'(4)
(a1 (b) Function is not differentiable (c)-7 (-1
(iv) Find the point(s) of discontinuity of f(x)
(ax=3 (b)yx =4 (©)x=3 andx =4  (d) No points of discontinuity

(V) If the potter tries to make a pot using the function f(x) =[«],

will he get a pot or not? why?

(a) Yes, because it is a continuous function.

(b) Yes, because it is not a continuous function.

(c) No, because it is a continuous function.

(d) No, because it is not a continuous function.
A professional typist Raj charges Z 1450 for typing 20 English, 17 Hindi and 3 Arabic pages,
while Ketan charges 1800 for typing 14 English, 20 Hindi and 4 Arabic pages and Suraj
charges ¥ 1650 for typing 17 English, 18 Hindi and 3 Arabic pages.

Based on the given information, answer the following questions: (2 marks each)
(1) Assuming that the charges (in %) for typing one English page be x, that of one Hindi page
be y and one Arabic page be z, represent the above given situation using matrices.

(ii) If the matrix A can be expressed as the sum of a symmetric matrix P and a skew-
symmetric matrix Q, find matrix P.
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36.

37.

38.

SECTION — E (Questions 36 to 38 carry 6 mark each)

LetA={1,23,.... 9}. Show that the relation R in the set A X A defined by (a, b)R(c,d) if
a+d=b+cforall a,b,c,d € A, is an equivalence relation. Also find the equivalence
class [(3,6)].

A rectangle is inscribed in a semicircle of radius r with one of its sides on the diameter of the
semicircle. Find the dimensions of the rectangle , so that its area is maximum. Also find
maximum area.

(OR)
Prove that the height of the cylinder of maximum volume, that can be inscribed in a sphere of
. . 2R :
radius R is 5 Also find the maximum volume

31 2
IfA= [3 2 —3], find A~1. Hence, solve the system of equations:
2 0 -1
3x+3y+2z=1

x+2y=4
2x—-3y—z=5
(OR)

1 -1 0 2 2 -4

Giventhat A=|2 3 4|, and B=|-4 2 —4|, compute AB. Use this product to
0 1 2 2 -1 5

solve the system of equations: x —y=3; 2x+3y+4z=17; y+2z=7

****END OF THE QUESTION PAPER****
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